H & 0l & AHS B Ml A

M Ol A (LB I T /UBrEH)
Chel: Ol&ate 2te| EER=E)
SA-ZE - SA(FAH) - NISAY - BES Ofl kel N3 A Hlunsz
Ol &t 1,145,188 1,147,931 AN2,743
Ol&ME AL (BB S A/ABIEE) 964,889 956,343 8,546
Ol&HH 22| 261,289 252,743 8,546
EAtzel 11,135 11,210 AT5
405 Kot S| 675 750 ATH
01 XML =EF S| 675 750 AT5
ORIFA oXt P (0larE2)
43 675,000 675 750 AT5
2otE |XlZel 74,088 64,800 9,288
201 L2 | 74,088 64,800 9,288
02 Z22gHI 74,083 64,800 9,288
OJ28, 208 ™I
ZE 7,203+6005* 12 52,4838 50,400 2,088
OJIZS, 2ot #=2ly|
ZE 90,0002 *6005+*40/100 21,600 14,400 7,200
XX 249 6,507 6,627 A120
201 B2 AL| 6,507 6,627 A120
01 ArR222ltl 1,080 1,200 A120
OFQURXIHE AZERQ Q(0IARZ)
2% 1,080,000& 1,080 1,200 A120
FOIXX D18tz 5t 131,795 132,342 Ab47
301 LEIEEZ 129,3% 129,942 AB47
11 HARHIRIE S 4,925 5,472 NBAT
Oclgsor 9| S sI&#AX SA(uAHE
2) BE 4,925,000& 4,925 5,472 AB47
SHE2AAHI(01AHH) (DIEHDIIE 180,299 191,588 A11,289
JlE2al 111,841 123,130 211,289
J|1E23&| 111,841 123,130 211,289
201 L2 | 48,151 52,630 A4, 479
01 Ar22eltl 31,671 36,150 A4 AT9
O=SALEX P (MlarE)
Z& 3,240,000 3,240 3,600 2360
OSZ20HAldI (oAt E )
23 5,616,000 5,616 7,200 A1,584
Ot Z(0laE)
2% 1,080,000& 1,080 1,200 A120
OA7E SA7EHI(HAEZ)
Z& 540,000& 540 600 260
OARL sHdl(0laEZ) 6,480 7,200 AT
—=ZSAIN(AE) =
d& 450,000& 450 500 ABR0
—ZglHI| =cl 238 180,000 180 200 A0
—2AMJ] EY Z3 900,000 900 1,000 A100
—DEIH(EY) E
Z3 3,600,000 3,600 4,000 2400




SN 0latH
S HY2AAUI(0IAHH) (IIEHDIE
&l D122 (CH9: &S1)
M- - SA(3) - MRAY - BES Ofl kel | & A Hlns
—I2lE(ZY) EY
J & 540,000& 540 600 AB0
—PC =2l d& 270,000& 270 300 A30
—J|Et ==2lHl & 540,000& 540 600 AB0
OJIEH AF222IHI (0 AHE2Y)
38 1,620,000 1,620 1,800 A180
Og - sZYI(oIatEZ) 13,095 14,550 A1,456
— =X AR 6,669,000 6,669 7,410 ANTH
—2& 338 6,426,000& 6,426 7,140 AT14
202 0441 45,360 50,400 Ab5,040
01 =2LHO4 ] 45,360 50,400 A5,040
OB (ol aHE )
4% 38,830,000 38,880 43,200 A4,320
O8I (0l aHE )
433 6,480,000& 6,480 7,200 AT20
203 AR F&lY| 9,180 10,200 A1,020
01 D22 A R2F=LIH| 5,940 6,600 2660
OHE J|Z22GL2FXHI (M AE )
4% 5,940,000 5,940 6,600 2660
02 R A R FARIH| 540 600 AB0
OFAINARZ=TY| (O AR )
22X 540,000 540 600 B0
M EAM2IHRFAY| 2,700 3,000 A300
ORAN2ILRERIHI (0l AR )
d& 2,700,000 2,700 3,000 A300
405 RtaHE = 6,750 7,500 AT50
01 ML SEFHSHI 6,750 7,500 AT50
OFEI=AD] 2 (ol arE2)
438 6,750,000 6,750 7,500 AT50




